®
SUNDOO SPVASIFHBEMN &

=
RRAPPHERI AT~ RAKE, BT EMeTh, K
WRABMIZARARSXRERABEEEN, AR KBRS ARF,
Bz e ——EE.
KFAPRNETFEMUEMNEERAF . REFA, FORAKE
MATBUEAMERXMFREFN IV ERXRBPENEBRERANE.

FER: RMNLUEMNFERAE

MANUFACTURER: WENZHOU SUNDOO INSTRUMENTS CO.,LTD
ik I EEMNTEEXEE T XA T AESS

Add:No. 5, Xigongxi Road, Xitai Industrial Zone, Wenzhou China

Zip: 325011

Tel: 400 826 0705 Fax:+86 577 88390155
Http://www.sundoo.com E-mail:sundoo@sundoo.com

Ver:1.10 Con:20170301

SUNDOO"

ADVANCED PRECISION INSTRUMENT

SPV SERIES USER'S MANUAL

SPVA&7%
(R

For
SPV-50K
SPV-200K
SPV-500K

FRRENA

i M WL AL ER B IR 2 F]

WENZHOU SUNDOO INSTRUMENTS CO.,LTD






SUNDOO’

w E X

SPVRFIFNRENE

SPV-500K

1

4

&
d

44 R

=
fEm

SPV-500KF s EHL &

500 T - T T #R)

BLEYH kA

T T T R

M8 X 65 P /N i IR E]

M12X45 N 7N 24T

M12X85 I 7~ fi B 4T

15 Sz 4 el

O [0 || |[n|[H W[ |[—

Ji

ik FH 15 B 45

— | —
—_o

77l AR IE X AR B R

— = R |W | AW B[= [N [= =

R TR

QA a & £ G W oo



SUNDOO SPVRFIFHEENE

ARG WL G A2 BLT B HLAE D9 30 g 28 S B00 R B} B 50 4L 5
FE6b]s JE AR A[ 6 s] AR A MMk . BN MR, 24, f%3)
FIEE L XRAEN R ER AN S, JF R B e BOR SEBLX AN [ 4
MM AT Z M T @AM SRR, S AL RHPEAL
MEATI IO B R R R0 . S 4. BIER S . Mt
fE R A A M ARAKRHL .

M EPTR: ERS ERGHE S IHEREB LA, EReE ER
SEREENR. PG E N EXEERIG, K HE LN ERE
CBUEL S AR R B R0 0 i) B TR S pL 48 b 3400 [ 5E Hl
TR, WA E LS L BT P AR s AL AR B
- T R A A 52 I e e TR s AE RS S LR R AR R T I
AN 5 AL ST 32 AR AK b~ T AA) R T 0 K A 2 e R A TR . P T
A 2 ) 2oy RT AP B A 0% AR S L DU 4 4% o AN [/ (R 0 1

TR 7yt
1 38
R E L
& CF T
% S
iﬂ T2
I
F 3

Y& A

E BN RS ARG

SPVRIIFHREN &G

SUNDOO’
X &8

kiR
SPV-50K

=t
Jn

R

£
e

SPV-50KF B ENL &

(L (G R 1))

FLEYH kA

T T Bk

M6X25 /N FH IR 4]

MS8X35 WS fIR4ET

M12X35 N 7N F 24T

15 Bz 3

O [0 [([Q| ||k W[ |~

D12 #4 &

IS

COERALRE

77 A R IR R R B R

— = [ = [ [ = [ | = [N = [ =

SPV-200K

=

4

=
d

% FR

-
il

SPV-200KT 3l JEHL &

20m T 7 T CH7 F #4)

FLEYH K A

T THOE 5 Bk

M8 X25 /N fi 1R 4T

M10X60 N 7S f 84T

M12X45 7N ff 84T

M12X 60 7N Ff IR 4T

NeREe N IEN N Ko N RV, N I S ROSTE B NS e

15 Bz 4 el

IS

5 FH 3 B A5

i A R IE AR E R

— = | DW= [ W[ B[ —= N =




SuU
U

®
é\II?XOO SPVRFIFNRENE

1% 7 B2 HE 37

IIN
2\

i P RIS 0 OR AL 65 B 5 B A AR B0 5
TEZN B A, e Rk A B AN E
5 SR B AT ORI WAL, BT AR N AKE, 17T

Ja B BRI AR AT Y, AN EAE B UK A AR B0 A R

R = NN

il A AN i 2 o R vh B AR AR

ANEBFATHRE, BERSEAN, XTSI K AN
PR 5

A AR TR 5 SR AL B 2 mLIBCR

A EEEZHE AW, E IR AT LT
LB R, R R KRR AR R e A R
JFUE S Ak BAS 2y w5 A R RAR RS R, TR BUJR 7 E
22 57 il ) PR A8 T FR AT 2% 355

AFEREHEZHE—FN, EEFERELT, SH3AEAN
ks CH P B AT R HLEAE S A 212 i 4R B B4, B R K
SR RS R AR RIS AL, RTFRA A A G B AR AR
AT il B PR AZ 2 OE A b [E T 3% LA ISPV ARSI, X
O e K ORAB BT K 7 % 7 AT T DR D S AL i 4 2 3 B
SR ARKER, mAXF R ELERS,

SUNDOO’

28

SPVRIFEHBRIENE

| TERE

A HLI T 3 FE L0 W A o LG B S s b b T, 30
BB PLY A LR HEREE IR, 4 FIE, SO B T
SR(ES THCEICE N o e

AHUR I T SR BL I ¥ I, AL E S BR  E F B
CECTIS

MRS 2

LU SPV-50K SPV-200K SPV-500K

AR R ST | 450X260X 1190 | 470X260X 1320 | 490X 338X 1480

Nl 50 kN 200 kN 500 kN
TR 120 mm 140 mm 180 mm
st-10k | /330 SH-100K 1S J£ 350
SH-20K | ) ‘ s oormm
$7 329 +7 480
W38 2 1]
& 290 Ik 314
SH-50K SH-200K $7 380mm
$i 360 $i 333
HE #1103kg #1200kg #1376kg
— 3 —



SUNDOO"
w

2N B8 SPVRIFHRENE

1.

WA & 3 75 05 % [EL

AHL & T 2 PR ST E R R DL R M O A
RIEIRE IR HE, ZRILA. FARR LRI, K6 2%
R, fEHLE AR . KA S 2 R

B ———— o
E ZICICIE eI el - el i i
= ! 4-M10 ! = ! 4-M10 ! S ! - !
il 1 1 N 1 1 1 \ !
B - % |- o - % |- b B i > |-

SPV-50KJiCHMBET 2 5e R~) SPV-200KJICJHIRET 22 R~) SPV-500K i HIIRET 2 ke R~)

ZARIAE AR A e T

e AR WA M 1282 4T

L SHUAL R AR
B
N
(@

N
J =
] MSIE 4]

SPVHLZESTY £ J& 2% 22 %% J7 vk

_4_

SPVRIIFHREN &G

PR AR e HURENL & A B A B0 R AR 4l 15 12 2% 10 A R 42 T A A%

E
G0
g3 NN

H M 1202 4T
T

8 28 40D

|
T 741D

H

=
)
5
<
=
N
==

i
iz

SPV ML A% fe 4 2 A% ik A 2 2 U ¥k

AHLE P BEAT B s P AT 1A A A . AR A i 75 0K R R
Frml, R R TR G G E M E Lo AT 7 100 28 sk 2L
[ NN T W

AN EAE ] SRR B i AR (e B R AR 2R R B i AR TR Y
K FL I RT R v BT R, K A W R 0 T RE 2 BRVE o BT AR g
D145 Je A

AN B Y HE L ) T A IR R AIUE A A Y L, 7 U A% AR 2 A
I, 1 K A AT B A I A R T B Ok A .



	1: 1A
	2: 1B
	3: 2A
	4: 2B
	5: 3A
	6: 3B

